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Engineering Problem Solving with Matlab: final exam 2022

39930l 296sfoegds Lsgombgdol dobgzo0m:

Points distribution:

1 —4dmems(points), 2 —4dwmas, 3 —4dmas, 4 -4dmas, 5- 4dmas 6-3 dmbml Jmews (bonus) (Hg3oMo
399030000 20 Jmems s0{igMgds Bg30M0 2odmEobLl aMomo Bsdmmdol dobgpzom)

3obLgbom B0 M-Bs0-B3gbsm0O s gobobgo Lobgewroo final _y3sMoLsbgo.m 30m39bEHsMdo

Bo§96M9 90000, ™J3960 LEbgEo S 396M0. 53539 M-Bo0E0L [odsggon 439es (33CSWPO
393U BM 5390 9369560 (6MBYBO 3509 Fgolimrvergom 538 m-goo B396sG)d0); open new m-

file and save it as final surname name. Clean and clear all matalb figures and variables; do work in m

file.

dogmo # 1

Ticket 1

99obOgo T=[ 0, 8; 1, 4; 7, 3; 9, 3; 6, 9;4, 7; 5, 7] LHGHogmbgdol Led@GH0Mgds QIssRgm
BOHOIOMOOM, 3060390 139GH0L JobgE30m, 55390 yMsx03o figure(1)-do.

Sort T by first column ascending order. And draw graph in figure(1).

odmggom  x1=[1, 2, 3, 4, 5] yl1=[2, 3, -2, 1, 6] 30mOHE0bsEgdobmzol dg-2 bsGobbol
3mobmdm®mo MgacmgLos. figure(2)-do s390 Jowgdemo GgaMgbool Hoto.

Draw second order polynomial regression in figure 2 for x1 and y1 data.

bo@ygsdo “matlab” 03mggm dobodsermEo s dogduodsgrydo 360dzbgermdols dJmbg ASCII
30900 dJmbg LoddmeMgdo.

Find chars with min and max ASCII values in the word “matlab”.

89999600 BHMy396s 9d3u3MbgO, 1-0L BHMEWOo 2439MYO0M, S539m ol figure(3)-To.
Create equilateral hexagon with sides equal 1. Draw it in figure (3).

35350mgd0L  dmyzsb0m s0fighgm 498653 gd0L M3 MoGMEMo , . ¢ 3m396¢sM9dd0

* ¢

39939009 dglsdsdobo d960d36q00. Describe operator ,, .* “ in examples, do some disruptions
in comments.

93991000 50000 MHoib30 31 2oo0Y356900 MOMdOMT0, [o9b533wgm +1 doGHom o
0b93 299m0Yyz5690 smdomdo. Decimal 31 convert to binary, do +1 bit shift and convert it

back.



